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D 72+6x3=12=236

@ 80+(5%x2)=80+10=38
® 24x2+:6=48+6=38
@ 3x(45+9)=3x5=15
® 5x(18+3)=5x6=30
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O 128 +4x7
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@ 168 + (3x 14) = 168 + 42 =4
© 128 +4xT7T=32%x7=224
©®15%x12+2=180+2 =90
@96+ (4x2)=96+8=12




@ 18x3+9 @ 64+ (4x2) ® 3x(36+9)
@ 60+ (3x5) ()64 +8x2
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D18x3+9=54+9=6

@64+ (4x2)=64+-8=38
@3x(36+9)=3x4=12

@60+ (3x5)=60+15=4
®64-8x2=8x2=16
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D 15x (28 +7) =15%x4 =60
@27+9x15=3x15=45
@96+ (8%x2)=96+16=6
@12x8+4=96+4=24
®15x (12+2) =15%6 = 90




5.

TR Ao ol HEE O o] quke A 75 A
AU

{180 -9x (8+2)+16}+4 O 5x(7T-4)+5=30

@- @ + ® -+ @ x ® %e

i
flo
s,
rlo
2

B ~

{180 -9x (8+2)+ 16} +4—-5x (T—4) +5=20
—{180-9x4+16)+4-5x3+5

= {180 - 36+ 16} +4—15+5
=160+4-15+5

—40-15+5

=25+5=30
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@® (10+2+3)-4+5 @ 10+ (243)-4+5
® (10+2)+3-4+5 @10+2+3—(4+5)

® 10+ (2+3-4)+5
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@ (10+2+3)-4+5=16
@10+ (2+3)-4+5=16
®(104+2)+3-4+5=16
@®10+2+3-(4+5)=15-9=6
®10+(2+3-4)+5=16




on
J

Nfo

ojn

ol
i
-

=
,_OE

To

il

7K?

93-12424-7=10
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50 -3x6+487+3 =311

@ 3x6 ® 6+ 87

® 3x6+87

(50-3)x6+87+3=47x6+29 =282+ 29 =311




